
Name Electric drill Mark

Type MBX-650 Valid 1.1.2023

Exploded Wiew Version 3002365 page 1/3



Name Electric drill Mark

Type MBX-650 Valid 1.1.2023

Part List Version 3002365 page 2/3

Item no. Part no. Description Q'ty RSP (EA) Remark
1 3112227 CORD ASSY 1 10
2 2070329 CORD ARMOR 1 5
3 2130509 STRAIN RELIEF 1
4 2405073 +PAN HD TAP S AND PW M4*14 2
5 3110324 LED BOARD ASSY 1
6 2008172 TRIG. SWITCH 1 5
7 2412403 O-RING 2

8,34 2111505 HOUSING ASSY 1 3 INCLUDE #8,34
9 7739124 PRODUCT LIABILITY LABEL 1

10 - PACKING DOWN -
11 2130412 CHANGE LEVER 1 5
12 2057623 PLATE 1 10
13 - CARBON BRUSH -
14 2115121 REVERSE KNOB 1 3
15 2044567 INNER COVER 1 3
16 2054102 RATCHET 1 5
17 2417379 NEEDLE BEARING(HK0808) 1
18 2416026 STEEL BALL(D5.55) 1 5
19 2024316 GEAR 1 5
20 2412077 C RING 1
21 2417463 BALL BEARING(6002ZZ) 1
22 2411758 SPRING 1 2
23 2023173 SPINDLE 1 2
24 2456215 KEYLESS CHUCK 1 10
25 2404807 SPECIAL SCREW 1 5
26 2417462 BALL BEARING(608RS) 1 5



Name Electric drill Mark

Type MBX-650 Valid 1.1.2023

Part List Version 3002365 page 3/3

Item no. Part no. Description Q'ty RSP (EA) Remark

27 3000023 ARMATURE ASSY 1 5
28 2417461 BALL BEARING(627ZZ) 1 5
29 3010020 STATOR ASSY 1 5
30 3149212 BRUSH SHIFT ASSY 1 10 INCLUDE #13,30

31 - PACKING UP -
32 2405100 +PAN HD TAP SCREW(M3*10) 2
33 2405146 +PAN HD TAP S and PW M4*20 7
35 7910065 NAME PLATE 1


